A. Subtraction

In previous

clas
numbers. Let ys noses", We have learnt subtraction involving 1-digit, 2-digit and 3-digit
W learn subtraction of 4-digit numbers.

Subtrac.tion of a 3-digit Number from a 3-digit Number (without
regrouping)

,Example Subtract 217 from 428.

METHOD :
Step 1: Write the numbers as shown alongside.
Step 2: First, subtract ones.

8 ones — 7 ones = 1 one.

Write 1 under ones column as shown.

Step 3: Second, subtract tens.
2tens - 1ten=1ten.
Write 1 under tens column as shown.

Step 4 : Finally subtract hundreds.
4 hundreds — 2 hundreds =2 hundreds.
Write 2 under hundreds column as shown.
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Ans. 211

Exercise 4(A)

A. Subtract.

1 HTO 2 HTO 3 HTo: 4 HTO
340 312 9 8 4 9 4 3
- 123 - 312 - 372 - 8 2 1

~

226 00 0 | o1 2 122



A. Subtraction

nur::; previous classes we have learnt subtraction involving 1-digit. 2-digit and 3-digit
ers. Let us now learn subtraction of 4-digit numbers.

Subtraction of a 3-digit Number from a 3-digit Number (without

regrouping)

Example Subtract 217 from 428.
METHOD : '
HTO Step 1: Write the numbers as shown alongside.
4 2 8 Step2: First, subtract ones.
-2 17 8 ones — 7 ones = 1 one.
Write 1 under ones column as shown.
SR Step 3: Second, subtract tens.

2tens—1ten= 1 ten.
Write 1 under tens column a

Step 4: Finally subtract hundreds.
4 hundreds — 2 hundreds = 2 hundreds.

Write 2 under hundreds column as shown.
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Ans. 211
Exercise 4(A)
A. Subtract.
1 HTo: 22 wHTO0} ™3 nTO)™ HTO
349 312 9 8 4 9 4 3
- 123 - 312 - 372 - 8 2 1
22 6 00 0 l bl & (]
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13 HTo 14 HTOo 10 HTO, 16 HTO

315 8 4 2 7 68 7 29

~ 201 - 32 1 - 324 - 515

13y 5201 [upy) 214

Subtraction of a 3-digit Number from another 3-digit Number (witl
regrouping)

Example 1 Subtract 416 from 925.

o METHOD :
Step 1: Write the numbers as shown.

Step 2: Subtract 6 ones from 5 ones, but 5 is less than 6. So we w
HTO borrow 1 ten from the tens digit 2. So, 5 ones become 15 one
1) G5 and 2 tens become 1 ten.

9 2 ¥ Step 3: Subtract 6 ones from 15 ones.
A4 n 18 nnes — A ones = 9 ones.



Exampe
a2 Subtract 289 from 478

METHOop .
Ste . ;
? Step; * Write the numbers as shown,
Tm o P2: S_ubtract 9 ones from g ones, but 8 is less than 9. So we
3 8 1g :vg'" borrow 1 ten from 7 tens. So, 8 ones will become
ones and 7 tens will become 6 tens.
_ '; /87 »g’ Step 3 : Subtract 9 ones from 18 ones.
- 18 ones — g ones = 9 ones.
1 8 9 Write 9 under ones column as shown.

Step 4: Subtract 8 tens from 6 tens, but 6 is less than 8. So
borrow 1 hundred from hundreds place. 6 tens will become
16 tens and 4 hundreds will become 3 hundreds.

16 tens — 8 tens = 8 tens.
Write 8 under tens column as shown.
Step 5 : Subtract 2 hundreds from 3 hundreds.
3 hundreds — 2 hundreds = 1 hundred
Write 1 under hundreds column as shown.

Ans. 189
Exercise 4(B)
Subtract the following.
1 HTo 2 HTo 3 HTo) 4 S e
Y | 5
217 202 4 4 51 | 8 4
- 10 8 - 135 - 15 2| - 4209
=y Fe~ 1 n —
v 40 “089 1 297 11 L
5 HTOo 6 HTOo 7 HTO 8 HTO
8 2 4 8 372 8 9 1
_1339 - 149 ~ 186 - 643
1189 099 1z 2u8
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ek ' ‘ (without regrouping)

E_xample Subtract 4200 from 9361,
METHOD :
ThHTO | Step 1: Subtract the ones and write the difference under
| ones column.
9361 ] 0 ’
= 4900 one — 0 ones =1 one.
S b Step 2: Subtract the tens and write the difference under
5 _‘1 6 1, tens column.

6 tens — 0 tens = 6 tens.
Step 3 : Subtract the hundreds and write the difference
under hundreds column.
. 3 hundreds — 2 hundreds = 1 hundred
Step 4 : Subtract the thousands and write the difference
under thousands column.
9 thousands — 4 thousands = 5 thousands

Ans. 5161
xercise 4(C)




> 3

6 7 5 2 35 8 713 g i ;

- 2 9 6 - 18 9 - 8 5 4 = 7
' = ] g i
279 46 [019 1,

Subtractlon of 4-digit Numbers (without regrouping)
Example Subtract 4200 from 9361.
METHOD :

ThHTO Step 1: Subtract the ones and write the difference under
936 1 ones column.

- 4200 1 one — 0 ones =1 one.
516 1 | Step 2 : Subtract the tens and write the difference under

tens column.
6 tens — O tens = 6 tens.

Step 3 : Subtract the hundreds and write the difference
‘under hundreds column.
~+ 3 hundreds — 2 hundreds = 1 hundred

Step 4 : Subtract the thousands and write the difference
under thousands column.
9 thousands — 4 thousands = 5 thousands
Ans. 5161
-xercise 4(C)

\. Subtract the following numbers.
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| 3242)) | 1833 [ 4384 [ 2520 372

ThHTO | ThHTO | ThHTO | ThHTO ThHTO
4765 5937 382 | 3541 9473
-1523| -4104 _2032 -1021 - 3101




